
KEY NO. POOLSPA CODES MODEL PART NO. DESCRIPTIONS RETAIL PRICE 2025

2 20710530265 SILEN S2 75/100/150/200 1963 Bearing                            830.00 

02 03 20710530595 SILEN S2 300 36 M 134643 Rodament 6205 2RS C3 160º 52x25x15                         1,600.00 

3 20710530600 SILEN S2 75/100/150/200 1964 Bearing                         1,000.00 

4 20710530270 SILEN S2 142699 Retainer                            140.00 

5 20710530605 SILEN S2 149001 Shield                         2,400.00 

5 20710530610 SILEN S2 300 36 M 162603 Pump-Motor Support                         4,500.00 

6 20710530615 SILEN S2 129424 Bracket                         3,800.00 

7 20710530285 SILEN S2 142381 Washer                            140.00 

7 20710530620 SILEN S2 300 36 M 70238 Washer                            200.00 

8 20710530655 SILEN S2 200 31 45000005 Stator                                    -   

8 20710530660 SILEN S2 300 36 45000006 Stator                                    -   

8 20710530630 SILEN S2 75 18 45000021 Stator                                    -   

9 20710530055 SILEN S2 M 133890 Box                            700.00 

9 20710530665 SILEN S2 300 M 136411 Box                            830.00 

10 20710530060 SILEN S2 M 1000119 Screw                            140.00 

11 20710530335 SILEN S2 75/100/150 189155 Capacitor                         1,400.00 

11 20710530675 SILEN S2 200 189157 Capacitor                         1,700.00 

11 20710530680 SILEN S2 300 189159 Capacitor                         2,500.00 

12 20710530685 SILEN S2 100 24 M 198808 Klixon                         1,000.00 

12 20710530695 SILEN S2 200 31 M 198810 Klixon                         1,200.00 

12 20710530345 SILEN S2 75 18 M 10000241 Klixon                            420.00 

13 20710530370 SILEN S 28 Screw                            140.00 

13 20710530705 SILEN S2 300 36 M 1000011 Screw                            140.00 

14 20710530710 SILEN S2 342 Retainer                            140.00 

14 20710530715 SILEN S2 300 M 4100118 Retainer                            830.00 

15 20710530720 SILEN S2 1041 Fan                            280.00 

15 20710530725 SILEN S2 300 M 10367 Ventilador IEC90 CON GHIERA EJE-24                            280.00 

16 20710530730 SILEN S2 131639 Fan Cover                            280.00 

17 20710530425 SILEN S2 129906 Rotary Seal                         1,600.00 

18 20710530430 SILEN S2 414 Seal                         1,700.00 

19 20710530435 SILEN S2 8000074583 Mechanical Seal (414+129906)                         3,100.00 

20 20710530750 SILEN S2 100 24 M 11000004 Impeller                         1,700.00 

"ESPA" PUMPS - SILEN S2 SERIES

Parts of Model SILEN S2 SERIES



20 20710530760 SILEN S2 150 29 M 11000005 Impeller                         1,700.00 

20 20710530770 SILEN S2 200 31 M 11000006 Impeller                         1,800.00 

20 20710530780 SILEN S2 300 36 M 11000007 Impeller                         1,700.00 

20 20710530755 SILEN S2 100 24 11100004 Impeller                         1,800.00 

20 20710530765 SILEN S2 150 29 11100005 Impeller                         1,800.00 

20 20710530775 SILEN S2 200 31 11100006 Impeller                         1,800.00 

20 20710530785 SILEN S2 300 36 11100082 Impeller                         1,700.00 

21 20710530790 SILEN S2 75/100/150/200 11000009 Diffuser                         1,800.00 

21 20710530795 SILEN S2 300 11000010 Diffuser                         1,800.00 

22 20710530455 SILEN S2 324 Gasket                            280.00 

23 20710530800 SILEN S2 4000037 O'Ring                            280.00 

24 20710530805 SILEN S2 203263 CONJ.COS BOMBA SILEN S2 NEGRE                       12,500.00 

25 20710530810 SILEN S2 129423 Fan Cover                            830.00 

26 20710530815 SILEN S2 129435 Thread                         1,300.00 

27 20710530820 SILEN S2 0000204888 Gasket                            280.00 

28 20710530825 SILEN S2 11000822 Filter                         1,300.00 

20710530175 SLEN S2 10338 Plug                            200.00 

30 20710530170 SILEN S2 390 O'Ring                            140.00 

31 20710530830 SILEN S2 22 Screw                            140.00 

32 20710530835 SILEN S2 300 36 M 6047 Silenblock                            280.00 

32 20710530840 SILEN S2 9321 Silenblock                            280.00 

33 20710530845 SILEN S2 300 36 M 11000339 Foot                            830.00 

34 20710530850 SILEN S2 1000054 Screw                            140.00 

35 20710530200 SILEN S2 M 93 Screw                            140.00 

36 20710530205 SILEN S2 75 M 135136 Cover                            420.00 

36 20710531315 SILEN S2 300 36 M 156140 Cover                            560.00 

37 20710530860 SILEN S2 127994 Spanner                            560.00 

38 20710530515 SILEN S2 399 O'Ring                            200.00 

39 20710530505 SILEN S2 127465 Nut                            420.00 

40 20710530510 SILEN S2 130146 Union                            280.00 

43 20710530865 SILEN S2 T 11000764 Screw                            560.00 

44 20710530525 SILEN S2 T 300 O'Ring                            140.00 

45 20710530540 SILEN S2 T 200630 Cargol DIN7500 TORX T20 M4x12 (A2)                            140.00 

46 20710530530 SILEN S2 T 11100478 Box                            560.00 

47 20710530870 SILEN S2 T 122968 Gasket                            180.00 

48 20710530875 SILEN S2 300 M 132518 Motor Cover                         1,800.00 

49 20710530880 SILEN S2 300 M 202629 Cargol DIN912 M6x25 FE PAVONAT                            120.00 

50 20710530885 SILEN S2 300 M 169226 Tornillo DIN7985 M4X8 (A2)                            120.00 

51 20710530890 SILEN S2 300 M 202633 Cargol DIN912 M6x16 INOX A2                            120.00 

52 20710530895 SILEN S2 300 M 203390 Motor COMPL.TIFON300M CB10 10000hP2                                    -   

53 20710530900 SILEN S2 300 M 1000022 Screw                            140.00 


